Production-Possibilities Model Essay/Problem
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Using the information in the above graph, 

1. determine the opportunity costs of each farmer for both corn and wheat. Which farmer should specialize in corn? Which should specialize in wheat?

Include your computations.

2. Suppose each farm had 90 acres, calculate the total amount of corn each farm could produce if it produced only corn.

3. Suppose each farm had 90 acres, calculate the total amount of wheat each farm could produce if it produced only wheat.

4. Create a PPC graph for the two farms illustrating the output problem .

5. Calculate the comparative advantage using the new data from part 4. 

     Include your computations

